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dt+1)=Mut), 0000 () = Ma0) (2)
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x\x" 1 2 3

1 |7/10 1/10 1/30
2 |1/5 3/5 1/5
3 11/10 3/10 23/30
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P(1,t)
1. P(1,0) = P(2,0) = P(3,0) = 000, a(t) = (P(2,t)) ooooo.
P(3,t)

2. 00000000,00t—-o000000 W(eo)OOOO.
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0000000000000000000,00¢ 00 P(1,t),P(2,t),P(3,t)0000
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9Copyright (©2003 Saburo HIGUCHI. All rights reserved.
"http://sparrow.math.ryukoku.ac.jp/ hig/theorphys/| http://hig3.net/ 000 000.
’mailto:hig@math.ryukoku.ac.jp, http://www.math.ryukoku.ac.jp/ hig/,

00 1-508, 000 077-543-7501
1


http://sparrow.math.ryukoku.ac.jp/~hig/course/theorphys_2003/
http://www.ryukoku.ac.jp
http://rikou.st.ryukoku.ac.jp
http://www.math.ryukoku.ac.jp
http://www.math.ryukoku.ac.jp/~hig/
http://sparrow.math.ryukoku.ac.jp/~hig/course/theorphys_2003/
http://hig3.net/
mailto:hig@math.ryukoku.ac.jp
http://www.math.ryukoku.ac.jp/~hig/

	13 ¥Þ¥ë¥³¥ÕÏ¢º¿¤ÈÁ«°Ü¹ÔÎó

